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CIE02, RG-, YB- und radiale Richtungen: a, b, rna=1,4000, nb=0,5000, D50
panu=pan−pau=pan−0,174
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a=pan=napa=na[(b21−b23)x+(b22−b23)y+b23]/y=1,4(3,0757x−2,5702y−0,0960)/y
b=pbn=nbpb=nb[(b31−b33)x+(b32−b33)y+b33]/y=+0,5(1,9906x+3,8617y−2,4046)/y
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CIE02, RG-, YB- und radiale Richtungen: a, b, rna=1,4000, nb=0,5000, D50
panu=pan−pau=pan−0,174
pbnu=pbn−pbu=pbn−(−0,459)
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a=pan=napa=na[(b21−b23)x+(b22−b23)y+b23]/y=1,4(3,0757x−2,5702y−0,0960)/y
b=pbn=nbpb=nb[(b31−b33)x+(b32−b33)y+b33]/y=+0,5(1,9906x+3,8617y−2,4046)/y
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CIE02
Xw=96,31, Yw=99,99, Zw=82,24
xw=0,3457 yw=0,3589 zw=0,2952
a3,nu=(a3−a3,u) Y18
b3,nu=(b3−b3,u) Y18
a3=1,4(3,0757x−2,5702y−0,0960)/y
b3=0,5(1,9906x3,8617y−2,4046)/y
na = 1,40, nb = 0,50
n = D50

λB,G,Y,R=475,503,574,494c,E nm
Ostwald Farben (o), Yw=99,99
max (m) Buntwert, D50
Farbart (a3, b3)Y18
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CIE02
Xw=96,31, Yw=99,99, Zw=82,24
xw=0,3457 yw=0,3589 zw=0,2952
a’ 3,nu=(a3−a3,u) Y18[Y/Y18]

1/3

b’ 3,nu=(b3−b3,u) Y18[Y/Y18]
1/3

a3=1,4(3,0757x−2,5702y−0,0960)/y
b3=0,5(1,9906x3,8617y−2,4046)/y
na = 1,40, nb = 0,50
n = D50

λB,G,Y,R=475,503,574,494c,E nm
Ostwald Farben (o), Yw=99,99
max (m) Buntwert, D50
Farbart (a3, b3)Y18(Y/Y18
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CIE02
Xw=96,31, Yw=99,99, Zw=82,24
xw=0,3457 yw=0,3589 zw=0,2952
A3=(a3−a3,u) Y
B3=(b3−b3,u) Y
a3=1,4(3,0757x−2,5702y−0,0960)/y
b3=0,5(1,9906x3,8617y−2,4046)/y
na = 1,40, nb = 0,50
n = D50

λB,G,Y,R=475,503,574,494c,E nm
Ostwald Farben (o), Yw=99,99
max (m) Buntwert, D50
Buntwert (A3, B3)
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Xw=96,31, Yw=99,99, Zw=82,24
xw=0,3457 yw=0,3589 zw=0,2952
A3=(a3−a3,u) Y/[Y/Y18]
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B3=(b3−b3,u) Y/[Y/Y18]
1/3

a3=1,4(3,0757x−2,5702y−0,0960)/y
b3=0,5(1,9906x3,8617y−2,4046)/y
na = 1,40, nb = 0,50
n = D50

λB,G,Y,R=475,503,574,494c,E nm
Ostwald Farben (o), Yw=99,99
max (m) Buntwert, D50
Buntheit (A*3, B*3)
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